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.go f A fognnawn g(x) = cos(x) ,f(z) = 2241 g R—=R N
x

ondvn 09NN NN pon N qwno A = {1,2)3,4,5},B = NC =7Z A
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JM)=2,f(2)=4,f3)=10,f4)=7,f(5)=1 >mDm f: A= B
gEx)y=xz—=5 T mMmmg: B—>C

v 15 f,9,k : R — R nospno wen A(z) = 232 mymmon AR — R nam 3
h=fogok
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fog =fog,-wPni¥pe g, :A—> A, g,:A>A-1v'nnxn f:A— A orxwinoin (x)
.0; =0, oM™~

“wpPImirnnw g, :A—> A, g,: A—> A nrxpuo ninvp tr v'nn pk f:A— A prwinoin (2)
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gof=0g,cf-wpnyme g, :A> A g, A>A-1'wrn FIAS A dxwinoin ()
.g; =0, NN TX

wPImirnuw g, :A—-> A, g, A> A nrxpuo nintp v nrk I A— A orwinoin (1)
gof=g,0of



